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METHODS OF ANALYSIS
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The value of the current measured by the ammeter

in Fig. P1.3.12 is

2A
-
/
70 40 Ammeter
A% W\r—*3<l=IE
3A l §GQ
5Q 20
A'A'AY MN—<—
Fig. P1.3.12
2 5
A=A B)-A
( )3 ( )3
5 2
C-—-A D)= A
©) 5 D) 9
i =?
200 Q
'A%
40mAC> IOOQg Q §5OQ 10 mA
Fig. 1.3.13
(A) 10 mA (B) -10 mA
(C) 0.4 mA (D) 0.4 mA



40 80 50
The values of node voltage are v, =12 V, v, =9.88 V AA'A% AA'A% 4'A'A%

and v, = 5.29 V. The power supplied by the voltage
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source is 12v (_) 2Q . 20 (_) 20 V
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m For the circuit of Fig. P1.3.38 the value of v, , that
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The power being dissipated in the 2 Q resistor in the
circuit of Fig. P1.3.42 is
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SOLUTIONS

1. (B) Applying the nodal analysis
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6. (B) Using Thevenin equivalent and source transform
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8. (B) 75 =90ki, + 10k(i, —7.5m)
150 =100ki, = i, =15 mA

9. (B) 3=2i, + 3G, -4) = i, =3A

10. (B) 45 =2ki, +500 (i, + 15m)
= i =15mA

11. (D)
6.6 =503, + 1000, +0.1) + 40(i, —0.06) + 60(;, —0.1)
i, =002 A
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38. (D) If v, =0, the dependent source is a short circuit ; 28047542 o000 A o 6 21975V
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Fig. $1.3.38
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Fig. $1.3.40

41. (D) Let i, and i, be two loop current
05v, =500%; + 50007, —i,),

v, =-500i,
= 5i -2i, =0 ()
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i, =20 mA, v, =-500 x 20m =-10 V

42. (C) 30 =5i, + 3(i, —25) + 4, —25 +2)
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